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Roman Numbers

p & Student’s Learning Outcomes:

- After studying this unit, students will be able to:
«» read and write Roman numbers.
e convert Roman numbers in Arabic numbers and vice versa.

We use numbers for counting in our daily life. They start from
0,1,2,3 and never ends. These are called arabic numbers. Before
Arabs, Roman's used their own numbers which are called Roman
numbers.

AP ylm Q;‘z’ fﬁ;w&‘_ sls e 32610 ,,_;_,g.é‘..f dté‘frg‘. L&‘Cm,ﬂ fj}s}}y@frﬂ
b s & 2 Sy b e i s
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Arabic Roman Arabic Roman
Numbers Numbers Numbers Numbers

T | [ S

. I 11

2 I 12 XII

3 I 13 XTI

4 v 14 IV

: v 15 XV

; Y 16 XVI

7 \Yil 17 XV A=
8 VI 18 XVII g%
9 IX 19 ax B :
= A 20 XX




Romans did not have substitute of 0 in Roman numbers. They used
total 7 letters of their language for representing digits and they are:
el Je1 a7 TE LG e LI b S w wri st 1 G A O sl sy L st ss

¢ 1 = | ® 100 = ¢ Ut
¢ 5 =V e 500 = D
e 10 = X e 1000 = M
_ ¢ 50 = L
o Write the Roman equivalent of given Arabic numbers.
: -uf.’gw!u" s§km Lol p L
a. 8 = v b. 3 = m
c. 9 IX d 5 = Vv
e. 6 = VI f 17 = XV
g 11 = Xl h. 19 = XiX
e Write the Arabic equivalent of given Roman numbers.
.._Ifﬂ:lx!{_} S L ul s uid_,.:
a. V = > b. XV = 14
c. VI 7 d. XVI= 18
e. X = 10 f XX = 20
g Xl = L h. XVI = 16
Basic Rules for Writing Roman Numbers
u}f!}.d)g&gjlﬁfu}" Y
i A symbol cannot be written more than three times.
For example: e iz pof eoelS
II Ll = 2 L Je
[II 1+1+1=3
VI 5+1=6
VIII 5+1+1=7
VIl = 5+1+1+1=8

N )
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. i When a smaller number is written at right side of a great number,
itis added in previous number. For example:
J,-_;;.-b.£JL’:--;;.W:O’*Utfw%fﬁé.ju})’uﬁ:&mai:ﬁixlmf é:(_-?
VI = 5+1=6 XI = 10+1=11
XV = 10+5=18 XVI = 10+5+1=16

'iii When a smaller number is written at left side of a number, itis
subtracted from its next number. For example:
L9 :.’.:J@'-.-.:.;. h:‘ﬂ.j'" e S .wﬁiu' (92 T3 /Ll,{fi Loy U",:ﬁlfff Ju( -
IV =5-1=4
X =ilb~-1=29

Challenge! Write Roman numbers from 21 to 30. 153'
e 30 221
XXI 1 XXII XXIII XXIV | XXV
XXVI ': XXVII XXVIII | XXIX | XXX

How to Read and Write Bigger Numbers?
?ngszslwgéyclﬁlf..ij
We use previous rules to read and write bigger numbers.
LSS 2T AL L e ey
Example1:  Write 35 in Roman numbers. _L;,{c,p wles58 35 1
l Solution: 35 = 30+5
= (10+10+10)+5 = XXXV

Example 2:  Write 68 in Roman numbers. 5.4 68 2t
Solution: 68 = 60+5+3
= (50+10) + 5 + (L+1+1) =LXvi

.-




' Example 3:  Write 126 in Roman numbers_pd‘@:jxnw;! 126 :3J¢
Solution: 126 = 100+20+6
= 100 + (10+10) + (5+1)
= CXXVI
Ql Convert Arabic numbers into Roman numbers.
LS S 1 il

a.| 3 III b.| 6 VI ¢.| 8 |vim| d. 10 X

e 15 || Xv | f | 20 || XX | g.| 25 ||XXV| h.| 31 | XXXI

|
|
|

.| 19 || XIX | J. | 46 ||XLVI

k.| 24 [xxavl L | 17 ||xvI

9) Complete.

21 xxi |31 xoa |41 xu
22 XXII 32 XXXII i 42 XLII
23 XXII 33 XXX || 43 XU

24 XXIV |34  XXXIV | 44 XLV
25 XXV 35 XXXV 45 XLV
26 XXVI 36 _XXXVI || 46 _XLvI

127 XXvO 37 XXXVII § 47 _ XLVII
28  XXVII 38 XXXvII || 48 XLl

129 XXIX 39 XXXIX | 49  XLIX
30 XXX |40 __XL ‘l 0 _L |

|
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How to Convert Roman Numbers U3/ 5ulss
to Arabic Numbers ?;ﬁ_@@}{
We have seenthat VI =7 SUHEd

It is because smaller number comes after bigger numbers, i.e, 1
is smaller number and V is bigger number, so we add them. Hence, VII

means B SC L sty Vst T et Tt ssoe st Sy
5+1+1=7 ~me e VII U

Example 1: What is the equivalent of XIV. bl Bolr L XIV
’Solution: Here three symbols are used, X, V and L. I = is smaller

no on left of V = (5), so IV = 5-1 = 4, Xiis largest number and IV is on
right side ofit,so XIV=10+(5-1)=10+4=14
LIS ALV = 5sue e sutedd LI = Lil, XF oot egf Ui
K sd Ne P Lg1utEIX = 4 sutye X ~IV=5-1=4
XIV=10+(5-1D=10+4=14
'Example 2: Whatisequivalentof IVand IX?  f /(b IX ol IV

- ®
Solution: Smaller number () is at left side

(I) is at left side of larger number | of bigger number (X). So, we
(V). So, we subtract smaller | subtract smaller number from

number from Iarger number. larger number.
Fd V-t AL L Vs (Dostsf A s VRS AL OO (Diosctsf
LS eSSl B LS P e S el sE
So, IV =5-1=4 L So, IX =10-1
@ Write Arabic equivalent of these Roman numbers.
: Aok LT r

a.| XV [ 15 | b Xx1| 21 | c.|XvII|| 17 | d.| XIX | 19

e.|] C [100]|f |XXIV| 24 | g.| XL | 40 | h.|XXIX| 29
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@ Write Arabic and Roman number from 1

to 20.

Tx

x S - T = =

Mﬁfcf)Jled FE 201
1 I I 3 III 4 v 5 Vv
6 VI VII VIII 9 IX 10 X
11 XI 12 | XII 13 | XIII 14 | XIV 15 | XV
16 | XVI 17 [ XVII || 18 XVIII|| 19 @XIX 20 | XX
@ Write Roman numbers from XVI to XXX.
el 0 XXX o XVI
XVI XVII XVIII XIX XX
XXI XXII XXIII XXIV XXV
XXVI XXVII XXVIII XXIX XXX
@ Write in Arabic numbers. _Jfﬁﬁ@ £
a. XXXIX|l 39 | b.| XL || 40 | < |[XXV| 25 | d.|XXX1| 31
e.| XIX || 19 fxXxi] 21 g.| XLV || 45 h. [ XxXVil|| 27
Write in Roman numbers. _u:"”:nm‘_.;‘,,f
a.| 17 ‘ Xvii b. 19 || XIX ¢ 21 ||XXI ‘ d.‘ 25 || XXV
— I = | !_
e.| 28 i){}(vlll f | 34 XXXIV|  g.| 47 ;f)(L‘JIIi h. 48 | |XLvll
. ' . [ ] \A | |
. | 52 LII J. | 60 LX k. 35 | XXX | l. | 47 | XLVII

—
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Numbers upto 100000

| sa—#£ 100000
- f Student’s Learning Outcomes:

After studying this unit, students will be able to:
« read and write 4-digit numbers.
o read and write 5-digit numbers.

read and write 6-digit numbers.

The biggest 3-digit number is 999, when we add 1 in it, we get
the first and the smallest 4-digit number, which is 1000, It is written in
place value chart as:

e S 6 100045 4 4 155 a e g LIS IE 1 VU1 2 egstilS i0 3 ¥ e 999
ot e gL edgeSUe

IlUUUI

Remember: After every 3-digits, from right a comma ', is placed so
that reading of numbers becomes more easy.
-.4.:;.[3:{ SLT Eﬁ'.z:r:lﬁi Y1y, 7 8 G Loy i3 et P l,[‘i: :uf::&

I9 999\

It is read as nine thousand nine hundred and ninety nine. It is
written as 9,999

209,999 1.tz he st iAndd

0 Write the numbers names. __ufg rt'u”"u

(i) ThHTO
4 6 0 3 _Four thousand six hundred and three

506 (o _Fivethousand and sixty
4 0 5 5 _Four thousand and fifty five

8810 Eight thousand eight hundred and ten

ﬁ



3l Wyt
_—

We know that the biggest 4-digit number is QOO
9,999, when we add 1 in it. We get the first and the 999
smallest 5-digit number. It is written and read as

?’ufqtﬁl.f(‘f‘lufgiffﬁf_9999mdﬂ4ff{;yffgﬁ'£lg(7
T i.s;.‘..ﬁ_rlﬁ'g.ull.agu;_’f J L:*:..t'ﬁg,”‘ a5 26 SU9E o rsalilet, &

IlUUUOI

Ten Thousands. /.

9
- 1
10000

o

Let us read and write a 5-digit number. szl mze 4 s i ST
23468 =

Itisread as: 2Bl . B8 e Ul

Twenty three thousand five hundred and sixty eight.

0* Write the numbers names. NP

(i) 83672 Eighty three thousand six hundred and seventy two
(if) 70650 Seventy thousand six hundred and fifty

(iii) 45588 Forty five thousand five hundred and eighty eight
(iv) 12194 Twelve thousand one hundred and ninety four

Use of Period Jw-¥2 ,

Remember that number greater than 3-digits are written with
the use of a comma. ;,.;Jﬁz:dt‘«-_.f;..t-l_ag@t,f e sl by e sl seh(§ 423 S u.‘i{.uk
For example: 4509 is written as 4,509 and 40505 is written as 40,505

- t61940.505540505.54:50954509
Note: In Pakistani way of writing a number, after 3rd digit (from right
side) a comma () is placed. Comma is also called a period.

_.:;.F:'Ll:r'de‘_ﬁst,..‘c.L"L;}'Eﬁerﬂ:’ L:j@,ﬂf’c;q)é:rpﬁa_)dbid: é":ﬁ::.-;




o Place comma (period) at proper place. SHCENS ot
. 2356 2,356 ii. 4637 4,637

iii. 28737 28,737 iv. 48484 48,484

v, 77777 77,777 vi. 69520 69,520

vii. 65499 65,499 viii. 80648 80,648

Expanded Form 37

This method of writing a number is used to find the place value

of every digit. et LESptnd$6 S e sip sy bk s
Forexample: s
43,786 = 40000 + 3000 + 700 + 80 + 6 wred
25741 = 20000 + 5000 + 700 + 40 + 1

Short Form (f%*

This is the reverse process of expanded form. Consider these
examples: S gt e Sk P,
40000 + 3000 + 200+ 10 + 5 = 43215
60000 + 7000 + 000+ 8 + 1= 67081

o Write these numbers in expanded form. wrf’fﬁdf T e
. 36734 = 30000+ 6000+ 700 + 30 + 4

ii. 24895 = 20000+ 4000+ 800 + 90 + 5

iii. 67,737 = 60000+ 7000+ 700 + 30 + 7

iv. 23405 = 20000+ 3000+ 400 + 00 + 5

v. 56000 = 50000+ 6000+ 000 + 00 + O

© Write these numbers in short form. Wl ATPN
i. 40000 + 3000 + 200+ 10 + 6 =_43216
ii. 80000 + 9000 + 800+ 90 + 8 =_89898
iii. 30000 + 7000 + 200+ 70 + 4 =_37274
iv. 20000 + 8000 + 900+ 30 + O =_28930
v. 90000 + 5000 + 400+ 60 + 1 =_95461




6-Digit Numbers .56
When we add 1 in the largest 5 digit number 99,999, we get the
first and the smallest six digit number. It is called 1 Lakh or 1 hundred
thousand. (s cfovde e .t TR 99999 k(5 £15e Y e i
-.:‘::.l:‘M/ Ay V] g boe S lori

QOO
99999
- 1
o 100000
Itis written in place value form as: ety S d

EE S
i 0 @ 0 0 0
A six-digit number is read and written as: <« tbllilesus e w18 L
Pakistani: 31
345682 = Three lac forty five thousand six hundred eighty two
International: J*%i
345,682 = Three hundred and forty five thousand, six hundred

and eighty two

@® Write the number names in Pakistani way. SN e BP0,
i. 246,366 = Two la, forty six thousand, three hundred and sixty six
ii. 243506 = Two lac, forty three thousand, five hundred and six

iii. 789,123 = Seven lac, eighty nine thousand, 1 hundred and twenty three

© Write the number names in International way. _
“,;:‘."?'ri.mla..%‘, AFE
i. 246,246 = Two hundred and forty six thousand, two hundred and forty six.

ii. 333,300 = Three hundred and thirty three thousand and three hundred
iii. 444,000 = Four hundred and forty four thousand

ey
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@ Write the following in numbers. _,_,r:{r:,w,fjﬂ.;c-,ﬂ

a. Forty six thousand eight hundred thirty nine 46839

b.  Ninety thousand six hundred eighty one 90681

¢.  Seventy six thousand six hundred ninety three 76693

d. Eighty four thousand eighty four 84084

e. Twelve thousand three forty five 12345

f. Nine lac eighty thousand four hundred eighty nine 980489

g. Fourlac seventy nine thousand one 479001

h. One lac one thousand ten 101010
@ Write the number names of these numbers. )

a. 4307 Four thousand three hundred and seven

b. 4,646  Four thousand six hundred and forty six

c. 27,253  Twenty seven thousand two hundred and fifty three

@ Write the number names of these numbers. _ur:"?r.i;ww
a. 146,356 _One lac forty six thousand three hundred and fifty six

b. 245,639 _Two lac forty five thousand six hundred and thirty nine

c. 867,988 _Two lac forty five thousand six hundred and thirty nine

Write number names in International way. _uﬁri;nxu;fi_; A
a. 303,404 _Three hundred and three thousand and forty hundred and four

b. 700,707 _ Seven hundred and seventy hundred and seven

@ Write these numbers in expanded form. 22 B3I e
a. 36,254 0000+ 600+ 200+ 50+4 b. 76,315 J0000+ 6000+ 300 + 10 + 5

c. 28,503 20000+ 8000+ 300 +0+3 o 146,839 100000+ 40000+ 6000+ 800 + 30 + 9
e. 273,134 M+mm1{ﬂ+iﬂ+4f_ 697,314 600000 + 90000+ 7000+ 300 + 10 + 4




Addition and Subtraction

_ y Student’s Learning Outcomes:

After studying this unit, students will be able to:
» add and subtract 4-digit numbers.
o add and subtract 5-digit numbers.

Addition (4,5 Digit Numbers)
Gl ﬁfSJ:Iél-)(f‘

' Example: Add 63230, 21325 and 21324
U T 21324 .4 21325, 63230: Je

l Solution: J’

Number HThTTh| T | H| T| O

63230 6 3|2 3|0

21325 1 AR (B 2] S

21324 201 13y | 2|4

105879 Ll a5 &) 7] 2
Explanation: rolos

Here we simply add ones into ones, tens into tens, hundreds into
hundreds, thousand into thousands and ten thousands into ten
thousands and then into hundred thousands.

AL LGS AT s A S s o T e U p e U KUK A U
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o Add following 4-digit numbers.

8320 3707 1473
+ 1116 + 1916 + 3264
9436 5623 4737

e Add following three numbers.

2116 8721 7012
1234 A A ¢ 57 1
+ 3550 + 4001 + 2034
6900 14843 9617
1709 4455 5656
2835 3210 761
+ 756 + 987 + 2122
5300 8652 8539

© Add following 4-digit numbers.

4234 4329 5260
+ 31651 + 5102 + 2413
7865 9431 7673

0 Add following 5-digit numbers.

21437 47531 713121
+ 686520 +851317. % 10436
98848 83557

89957

LG Sl s 4S5t

£ 7028 6321
+ 1819 + 8276
8842 14597
S S

9600 8431

900 268

+ 3031 + 104

13531 8803

8517 4101

237 3752

+ 421 + 99

9175 7952
...uﬁfzf-;"jwu‘m 4 J_i@u

1473 3080

+ 6512 o A
7985 8202
..{_,I./(g}rjfﬁ!(fﬂ 5 J_Eé/i)
32156 73285
+ 41622 + 12414
73778 85699

.-
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There are 1823 apple trees and 2016 guava trees in 1823

a garden. How many total number of trees are there in |, 5916
the garden? 3839

Waheed collected 4349 stamps this year. Irfan 4349
collected 2758 stamps this year. Find the total number + 278

of stamps. 4627
@ Maryam has 1740 blue flags. Naveed has 1382 1740
green flags. How many total flags both they have? +1382

3122

@ A company sold 8472 mobiles while another 8472
company sold 6893 mobiles in August. Find total

number of mobiles sold both of these companies in '; : : :'_:g
August.

8980
@ Waseem has 8980 rupees while sadaf has 7992 | 599>
rupees. How many rupees both of them have in total? 16972
Aslam purchased a bike for Rs. 45400 and 45400
refrigerator for Rs. 33,700. Totally how much amounthe + 33700
spent on both things? 79100

2600
@ The monthly school of fee of Asad’s two sons is Rs. +3550
2600 and Rs. 3550. How much fee does he pay every

month? i 0



H = i

‘Subtraction (4 and 5-Digit Numbers)
(el 2L s) 3 7

Example 1: Subtract 4809 from 6949. Example 2: Solve
IS0 4809 46949 LS
Solution: :J Solution: T
Numbers ThiH| T| U TR a7 9
6949 6 | 9| 4| 9 _SAERD
-4809 4 8 O 9
2140 2 47 4| 0 dleds

Explanation: Here we simply subtract ones from ones, tens from tens,
hundreds from hundreds and thousands from thousands.

N, ) ¥ M jre jx;ia.}@:.-uﬁ’%siuﬂmwuaﬁ e bl UL KIS 2 AU ol

Subtracting | 9 units from 9 units equal 0 |9 — 9 = 0 units 0
Subtracting | O tens from 4 tens equal 4 tens |4 — 0 = 4 tens 40
Subtracting | 8 hundred from 9 hundred 9 - 8 =1 hundred 100
equal to 1 Hundred
Subtracting | 4 thousands from 6 thousands | 6 = 4 = 2 thousand 2000
equal to 2 thousand
So, 6949 — 4809 = 2140 .U+ 2140
o Subtract the following. < ,J{j'z FEAEM
3320 2121 5678 - 4000 = 5432
- 2413 ~=1820 - 2483 - 2989 - 3153
907 301 3195 1011 2279

58816 81315 76797 90978 88885

- 24302 =-29296 =35232 =658039 =34845
34514 52019 41565 45169 54654

B -



Ali had Rs. 3200. He bought a uniform. Now he
has Rs. 635. How much rupees did he spend to buy
uniform?

@ Furgan has Rs. 7420 and Irfan has 3700. How
much more rupees Furquan has?

A shopkeeper had 1832 packets of balloons. He
sold 1323 of them. How many packets of balloons
he has now?

There were 2475 posters at a map shop. He
Jld 987 posters. How many posters now he has?

A box of coins has two bags. One bag has 8723
gold coins while other bag has 3583 silver coins.
How many more gold coins are there than silver

Ali had 8030 rupees. He spent 2225 rupees.
How many rupees he has now?

In a school library, there were 1955 books.
dents borrowed 449 books. How many books
are remaining now in library?

A factory manufactured 6700 cars in a year and
sold 2875 cars. How many cars are still to be sold?

ey

W A[S[STE[S[SIMIEIN[TIN

3200

- 635
2565
7420
- 3700
3720
1832

-1323
509

2475

- 987
1488

8723

- 3583
5140

8030

- 2225
5805

1955
~449
1506
6700

—-2875
3825

o



Fractions

» 8 Student’s Learning Outcomes:

- After studying this unit, students will be able to:
« order and simplify the given fractions.
o add and subtract the like fractions.

Ordering Fractions (27"

Look at these pairs of fractions. What is similar about them?

1 2 3 5 2 3 | S-S in Ll
7 "7 8 '8 4 '3 te S
In these pairs, denominators are same. L8 LA L si RN

Like Fractions .-

Fractions with same denominator are called like fractions.
How can we know, which fraction is larger and which one is
smaller? For this, keep the following rule in mind.
Siond L1 5 8ES Sy S5 of S E e sl o e S S 2
AL S e
If the numerator of one like fraction is greater than the other
then the first fraction has the greater value.

-4:‘..Jﬂdi:/(%?}ﬂf{a’.ﬁ/:»ﬂfﬁ@g’;uﬁzr{,ﬁﬂﬂ

J Examples: Write < or > forsmaller or greater fraction.
L > | < L LIl

4 3 2 1 9 11
O ol b e o I e 11} I )
Because 4 > 3 Because 2 > 1 Because 9 < 11
4 3 2 1
Hence ——|>| = Hence 3| > | 3~ HenceTgf < %

If we have more than two like fractions, then we can easily

ﬁ
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arrange them in ascending or descending order only by looking at
numerator.
ISP 2ol B L UM AT ks sn e oS
Example 1:  Write given like fractions in ascending order
BN AT (17
9 3 6 1 7 8
11 " 11 11 "11 “11 "11
Solution: i1 3 6 7 8 9
11 11 11 11 11 11
Example2:  Write the given fractions in descending order:

.,.Jfﬁ Us d}?#’fﬁf‘éiﬁ*éﬁ;
4 9 1 11 7 3
15 15 "15 15 15 ' 15
Solution: As the greatest value of numerator is 11, so in

descending order, the given fractions are written as:
e I gt bt o TS e 1 Lo Rty e S

11 9 7 4 3 1
15 15 " 15 " 15 " 15 " 15

Equivalent Fractions _+/(s-

If we multiply or divide both numerator and denominator of a
fraction by the same number, we get an equivalent fraction.
For example: -%,— is a fraction, if we multiply its numerator and
denominator by 2, we get

.;.:;_Gﬁwb/ﬁfl-‘f;q:/r(‘:.j}_-._.rﬂa..:x_giﬁrfﬁ#;}laﬂﬁﬁ/fﬁfl
v%bﬁfbﬁ?d)?ﬁéz;l}?"jj’tﬂj‘{ﬁédlﬁflﬂ%/hrgj %.;Ldﬁ'

2 x2 _ 4
3x2 6
This % is an equivalent fraction of % g % & G- A

.

4
6
¥

ey




If we again multiply numerator and denominator of 5- by 3,

we get g:g = S _i;_rﬁd’u._f‘?._,:;.._..ﬁa?,f:,f.,ﬂﬂspﬁw.’.?ugurﬂf 1

This fraction is also an equivalent fraction of % e U %:ﬁ‘ o

Note, that fractions % , % and % , all are equivalen’t

-.LEJ/ {_fjlw J!I'- ,/ 5 s Sod

8 isa fractlon |f we divide its

12
numerator and denominator by 2, we get -« b} bt IS el L

8 2 _ 4

12+ 2 6
4

& is equivalent fraction of 1% &+ o

Again if we divide numerator and denominator of by 4,

we get. ...;‘:.I:‘mj" b s/ r‘“ﬂ = 4507 leu-clr‘ uui,:}r“ 2]

8 +4 _ 2
12+ 4 3

Consider another example,

This % is also equivalent fraction of % -Gl % S % g

Note, that fractions 8-, -4 and g all are equivalent fractions

of each other, 126
-g,;f}'.:r’ff:l»v'['g 2 _;;I ‘ ,.:r/..({,.f;-«:’

@ Find one equivalent fraction of: -<.,{f( r:""f{frl-*»?v'ﬂ
b, 2 C.

5 6
A d —-
0

. 5
8 1 12
10

1 14

-’fi;?: #—

o=|m -hnlu.l
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Addltlon of Ilke fractlons 6’ JJ)/ [

To add like fractions, add only the numerators. The denominator
stays the same: e AU Lt S Us il s G S e
§ For example:

3 2 _ |5 1 2 _ |3

a &+ =3 b. = +* T =%

Subtraction of like fractions (¥ 7§/t

To subtract like fractions, subtract only the second numerator
from first numerator. The denominator stays same.
-ﬂ&f&ﬁ:ﬁﬁﬁhf:J&Jnﬁﬁé#ﬁd&ﬁ&;ﬂ:L‘-'-"

' For example: p LS
8 2 _|6 7 _ 2 _|5
“ 9 "9 |9 b. 5 -5 =3
© Add these fractions: G
1,1 _[2 1,3 _[4
@ 37+ 373 b5 * % =%
2 ., 3 _|[5 2 . 4 _[6
C S+ == = d. 5t 3 =3
3 2 _|s5 6 ., 3 _[9
© & * 8 |3 L9 *+91 =11
6‘“ Subtract these fractions: JAd I
, 6 _ 2 _|4 h 8 _2 _[7
7 7 7 11 11 11
c =2 _ 1 _|4 4 8 _ 4 _|4
-8 8 3 13 13 13
e 7 _ 2 - 5 § 6 _ 2 - i
9 9 9 17 17 17
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Unlike Fractions .1z 7

The fractions with different denominators are called unlike

fractions. 4J¢£J&,wdu e B unid S GBS
§ For example, 3 and — are unlike fractions. _cr, "7 2 2
Suchas -Z_ and _, 3 and , 6 and 2 are
_ B 5 ' 4 3 7 5
unlike fraction. e 2 2 08 6. 3 SR g a2 2 Sz

Proper Fracttons ;/ Y

Fraction in which numerator is smaller than denominator is

called proper fraction. e QS atresaesd = Ui AR S

2 5 6 7 :
i e i are examples of proper fractions.

7.6.5.,2
%diﬁ'{)f'}__qb 11°9°7°3

Improper Fractions _»~/_zh: ¢

Fraction in which a numerator is greater than denominator is called

improper fraction, < O Fomty e U il RS S S
3 6 7 1
2 "5 "3 "9

are examples of improper fractions.
S s u.7.6.3

Compound/Mixed Fractions ..

A proper fraction with whole number is called compound or

mixed fraction, e QU SoE S ALsu S o
1 3 2 4
p e e M
are the examples of compound fractions. A
(4% is read as 4 whole 1 by 3) 1,5215;3&154!4%
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i il

Remember that:
Improper fraction can be converted into compound fraction and
compound fraction can be converted into improper fraction.

e PR Ut St 8 B il Sl ot 2 S
' Example 1: Convert % into compound fraction.

SN NI RS
' Solution:  For converting improper fraction into compound
3 4 fraction, we di}iide numerator by denominator.
—12  Now we convert it into compound fraction.
- AL kS A

The quotient becomes whole number part, remainder becomes

numerator and divisor becomes denominator. So, % becomes 4%

4 -.-;-,L bl 13‘3 LAJle by Lfvﬁfr’*;,nn;ﬁ&‘?&,;mfﬁd’ G
(It is read as 4 whole 2 by 3) 3628 durz 4
.Example 2: Convert 5% into improper fraction.

§ Solution: 5 % B S Ay g [ 5%

Step1l: Multiply 3 by 5 (denominator with whole number part)
It gives us 15. +rﬁJ’b15¢J{a:fof6} W5 &3
Step2: Add 2in 15 (numerator in product)
Gl U PSS 20415

Step 3:  Write in fractional form 15; 2 or % RS

o Convert the following improper fractions into compound
fractions. SII LA o S

20 24
a = 6 b = 4
Z -3 5 %

ey




L o i LS i in e Rt s e in

91 Convert the following compound fractions into improper

fractions. SIS S ot F I B EF
. - 23 2 - 4
S T L A S

Simplification 23
We can reduce a bigger fraction into simplest from by dividing
numerator and denominator by the same number.

BV LI fE LI s 5L F i RE S5y 5
implif: 12
l Simplify: >4
' . (Divide numerator and
.SD|U'|IIOﬂZ % = %ﬁ I g = ]?2 denominator by 2)
S 2V i R

3 (Again divide numerator
10 = 2 6 and denominator by 2)

_g,f/rﬁ.j;'.-ziui_,ufu ..,-v:';s!‘u,t-'-:ﬁ?*

3 +3 _ 1 (Now divide numerator
=76 =3 2 and denominator by 3)
..g,{fl‘:g.:,3ul:uflfyrjrﬂhﬁvjki
: : 1 . (12
So, % is the simplest from of % . -7 P i
JExample 22 Write down -%g— in the simplest form.
s . (24
0 solution: 24 _ 24+2 _ 12 e By o S5U7
36 - 36+2 18 o
. 12+2 _ 6 E£R
- 18+ 2 T 9 ; _
63 _ 2 >
- T9+3 T 3 N
So, % is the simplest from of% . -< % Ferod %ud.



Place < or > inthe given fractions: B>t < 256
4 513 5512 2z 4
& 727 b 51> ¢ 9 < 7
4 1513 1z 3 3 gzl
d 5> 3 © 5 I< 3 b i<
6 o2 el i L[58
9 7127 h 471<17 AT 211
@ Arrange these fractions in ascending order: = Ut =70
3_4,5'1'3'2 1;2.3,4;5
7 7 7 7 7 7 7 7 7 7
h > 1 8 11 10 1 5 8 10 11
9 °'9 "9 " 9 "9 9°'9 "9 9 ' 9
c. 4 7 8 3 9 3 4 7 8 9
11 11 11 11 11 11 11 11 11 11
@ Arrange these fractions in descending order: _ﬂvr:d,;;.‘,;;,fj/dl
2 3 1 7 11 6 11 7 6 3 1
8 ' 8°'8 "8 " 8 8 '8'8 '8 "' 8
b 4 9 3 1 10 160 9 4 3 1
11 '11 '11 '11 " 11 11 '11 '11 "11 ' 11
c. 6 1 12 15 17 17 15 12 6 1
13 "13 "13 "13 " 13 1313 "13 "13 ' 13
Write down two equivalent fractions of the given fractions:
_ J@g/n_vd:im;‘: /.f{;;
. 4 | 8] [12 b, 2, | 4] [6
"5 "[10]°[15 ] 3 'L6 ("9 |
c b 12 18 4 7 14 21
7 ' 14 | 21 11 1227 33
e 2 4 |, 6 T | 2 3
9 ' 18 | 27 7 14721

f’z_?-
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@ Add the given fractions: LG Es
2 4 _6 , 5.3 _8 .1 2 _3
3tz =3 "Ititcin “ 6t 6 "6
d 6,2 _ 8 o 3 1 _4 ¢ 14 1 _15
13713 T 13 5 75 T8 17 V17 T 17
5,6 _11 , 8 .3 _11; 4 _ 8 _ 12
O F+5=73 "atawca 9t 9 "9
Subtract the given fractions: AT
.8 _2 _ 6 pla_2 _12 3 _1_2
10 10 10 17 17 ) 1 § 7 7 7
d 2 _8 _ 1 o5 _2_3 13 8_5
13 13 13 14 14 14 21 12 12
.02 _3 _ 6 p 9 _8 _1 11_4_7
13 13 ~ 13 12 12 ~ 12 17 17
Convert the given improper fractions into compound fractions:
SIS LB B ot 5
13 _,1 1 . 18_,2 17 _,1
R I:}'2‘132 “ 2743 d'4‘4
20 _g2 § 2945 o 25_,1 p 42_,6
&3 =65 It T =45 9 =45 hF=435
.34 _,1 : 50_.5
g =47 ) 9%

Convert the given compound fractions into improper fractions:
-;,.f/rc_!.&*‘ uﬁx/_#b/f;rfbﬁd‘:f:




Multiplication and Division

- 5 Student’s Learning Outcomes: 2

- After studying this unit, students will be able to: [ELP

« multiply numbers with 1-digit and 2 digit numbers. -
» divide numbers with 1-digit and 2 digit numbers :

» solve word problems of multiplication and division.

® We start with an example: S pe S LA
Multiply 245 x 4 S s
HTO
First, multiply the Ones (5) with the multiplier (4). @
4 x 5 - 20 --l,/::'hr‘,f:; :.(4}..:.41.3,4/ (S)L}.f ﬁ% 2 4

(Convert 20 into 2 Tens) LIS L U220

>
ofd >

Next multiply the tens (4) with the multiplier (4). )

4 x4 =16 D fe @S DUt 2 %
16 + 2 = 18 X
Convert 10 Tens into hundred. 8 0

SIS Uz 10

Finally, multiply the hundreds (2) with the o)
multiplier (4). e P B Ao T ST
4 x 2 = 8 and add 1 which makes 9. X

The answer is 980 9 8 0

- 98012 29 2 /T 1.414x2=8




724

Multiplication of 3-Digit Numbers (5.2 {5 23

with 2-Digit Numbers P sl i}

© Solve these. /7
HTO HTO HTO HTO HTO
2 3 4 3 4 5 4 5 5 3 45 5 4 3
¥ 4 2 X 3 4 X 8 8 X 4 5 X 7' 3
4 6 8 1380 3640 1725 1629
23 4x 1035x 3640x 1380x 3801x
2808 117360 40040 15525 39639
H TO HTO H TO HTO HTO
5 4 2 4 2 7 6 6 9 3 2 6 g 235
X 6 5 X 4 9 X 8 6 x 7 3 x 2 4
2660 3843 4014 978 2540
3192x 1708x 5352x 2282 x 1270x
3458 0 20923 57534 23798 15240

l
=
e

.-
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Multiplication with 10, 100 and 1000
- e1000.2100,10

Let us multiply 463 with 10,100 and 1000
e 100011000 1054637

D T

X X

4
4

wlw ol oy —
Ol olowO

H
4
0
6
6

wlpwoo|~n L

Ol o olo oy

Olx x olowO
-

0
4 6
4 6

Olx coojon L
Olx x o Oo|lo oy —
Olx % x olowO

4
4

© Multiply 369 with 10, 100 and 1000. /s« *=1000.5100.10/369

HTO H TO

- =
-
o

wlw

OO W
e fiteRan ]l _Jjle))
Oox OCW

Wiw

Do O
WWw o O W
Olx Oooth
OoxX X OO W

Wiw
Sn O
Cooo K
Olx oooow
Olx x ooom™
OXx X X OOoWw

@1..
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Divison ¥

It is the reverse process of _
multiplication. With the help of 5fQU°t'E”E.E.V
division, we can divide things | Divisor-—3) 19 e

e “Dividend
equally. = =18 o3
,;n.g,;q!u:gﬁa;u({ff;.f&fb’fﬁf lq“‘"“““-Rems.linder
- d
. Example1: Divide 99 with1l.  _,/<"- 1199
§ Solution: 9 e
ough aly
11) 99 Multiply 11 with different
—-99 numbers, such as:
T Z-"L_:f'u_':.ff.ﬂ;.:lﬁi._iﬁ;:"rl |
We found that 11x9 = 99 Seinfol | i e kel
So, we write 9 as quotient and 99 below the 44 55 66 99
dividend. igﬁﬁéc’:{)}fggﬂlﬁywaﬁfgﬁ;
Now subtraction of 99 from 99 gives Oas remainder.
So, 9 is the answer, -9 t2hid e EH O P 99299

' Example2:  Divide 108 by9. .y < =9/108
' Solution:

Here 9x1=9write 1linquotientand 9 below 10 and subtract.

1 is remainder bring 8 down with 1. A

It makes it 18. -uf‘jgc::_;flﬂ J:l(:*ﬁ'dﬂlwfl IOx1= 90'{{1 12
Now, 9 x 2 = 18 -=lI8/Ut /L1482 011 9 1UT
= 4
Subtraction given 0 9x2 =18 =
So, 12 is the answer, e 120208 4083 P - 18

-’i-'-'i;?r



9
8)72
72
0

30
6)180

~18

0
0
0

33

22) 726

-66
66
- 66

© Divide the following.

161

6)966

_b
36
=38
06
— 06
0
231

4)924
_8
124
~12

4
4
0

145
5 )iT25

Division Of 3 Digit Numbers
By 2-Digit Numbers

21

12) 252

—24
12
= 13
0

1.5

159 225
=0
i

= 75

0

176

3)528

4 )H;rdié;;)

13

23) 299

=23
69

- 69
0

12
41) 492
-41

82
- 82
0

23

36) 828

— 72
108
-108

T, O

JRLY S S

oA




@ Multiply the following. e 2 s
a 1 2 3 b. 2 3 4 . 3 45 d 4 5 6
X 3 X 2 X 4 X 5
36 9 468 1380 2 2 80
e. 3 4 8 Lt 4 3 2 g 6 0 8 h. 6 8 1
X 7 X 6 X 8 X 9
2 4 3 6 25 9 2 4 8 6 4 6 129
@ Multiply the following. BN O
a. 2 3 4 b. 3 2 3 ¢ 346 d 4656
X 1 2 X 3 2 X 2 3 X 3 4
4 6 8 6 4 6 103 8 18 2 4
2 3 4 x 9 6 9 x 6 9 2 x 13 6 8 x
2 8 0 8 103 3 6 795 8 15504
e 372 L 47 4 g 6 3 5 h. 8 7 9
X 2 5 X 5 6 X 4 7 X 8 9
1 8 60 2 8 4 4 4 4 45 7 911
7 44 x 237 0x 2540x 7032x
93 00 26544 29845 78231
@ Multiply by 10, 100 and 1000. e P 100044100,10
a. 5x10 = _50 b. 12 x 10 = 120
5 x 100 = _500 12 x 100 = 1200
5 x 1000= 5000 12 x 1000 = 12000

C




c. 18 x 10 = 180 d. 80 x 10

LT Tae e BT T R S S B AR

800

18 x 100 = 1800 80 x 100 = 8000
18 x 1000 = 18000 80 x 1000 = 80000
e. 134 x 10 = 1340 f. 260 x 10 = 2600
134 x 100 = 13400 260 x 100 = 26000
134 x 1000 = 134000 260 x 1000 = 260000
Write “T" for true and "F" for false statements.
- ..vaﬁ Fézw‘kbﬁ)sﬁéﬁu‘.‘.ﬁu

13 x 100 = 1300
20 x 10 = 200

36 x 1000 = 30600
40 x 100 = 40000

X
X

Q@ o 0o

b. 99 x 10 = 9900 X
d. 73 x 100 = 7300 L/
f 60 x 1000 = 60000 /
h. 707 x 100 = 77000 X

@ Ali bought 5 footballs. Price of one football is

Rs. 235. How much amount did he pay?

Price of one litre pack of ice-cream is Rs.175.

2 35

Find the price of such 23 litre ice-cream packs.

@ Divide the following.

a. 9 b. 12 (58
6554 7 )84
=54 i
0 14
-14
0

ey

14

8 )112

— 38
32

= S
0

oo i
Noe NN N ~J
nix n|w un W un

3
4

L
LA A st



N o | -26

00 11 65
-0 - 11 - 65
0 0 0
g 45 h. 63 . 372
15) 675 18) 1134 15) 5580
-60 ~108 -45
75 54 108
- 75 - 54 -105
0 0 30
- 30
0
45
Price of one dozen copies of 12) 451: .
" mathematics is Rs. 540. =
Find the price of one copy.
il | 265
0 15) 3975
-30
Price of 15 cricket bats is Rs.3975. What is 97
"~ the price of one cricket bat? - 90
75
75
101 0
12 Y1212
Fahad bought 12 kg of sugar for -120
Rs. 1212. Find the price of 1 kg sugar. 19
- 12
0



Unitary Method

_ y Student’s Learnlng Outcomes:

After studying this unit, students will be able to:
« understand basic concept of unitary method.
» solve questions related to unitary method.

o Find the price of 8 candies if the price of one candy is Rs.
gl S SURI L1y S ad F 008

Price of 1 candy Price of 8 candies
- oS 0N 189 0S9
| 0G0 6659 6 060

| Rs 15 Rs 15 X 8 -Rs 120

.-e Flnd the prlce uf one ball |f the pTICE of 3 balls is Rs 210
_:’r?..xz | 0..-{ L,LJ..L;J 3.f P4 r':]'”-..rfur.i_:fl

Price of 3 balls Price of 1 ball

000 O
Rs. 210 Rs. %ﬂ _Rrs. 70

0 Fmd the price of 12 eggs |f the price of leggis Rs 8
_,r‘:%.ug..':.-{_’ u::._JL‘I_J:J)’Fq:f'Ir‘sl’”;;EJu:II]E

Price of 1 egg Price of 12 eggs

' 000066

| ceeeet
| Rs. 8 Rs.8 x 12 =Rs. 96

[

T
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Rs. 800.

Prlce of 10 chocolates

3'3'3'3'8’,

| Rs. 800

B A e e L T i o Y e Py e A i L e Py e ] L, e 1 e Y e P i

The price of one racket is Rs. 75. Find the cost of such 4 rackets.
Gk i ALY YRy [ % [ W PN

Solution:;
Price of a racket

Price of 4 rackets

The price of one school bag is Rs. 345, What will be the cost of

such 12 school bags?

TJ nifed J/? d;ﬁ’ 112040 L.f_.—f?.u345¢“3 i '-!:::.J &~ Ny

Solution:
Price of a school bag

Price of 12 school bags

g 8002101y e S LK

T e S Y R g R g T Y A L ¥ A T T ¥ A N ST A A B ST A Vo B 3 S Jy1a-va-_pa\,m-vwr-_pa\,1-wnu:-

Price af 1 chncolate

0 Find the price of 1 chocolate if the price of 10 chocolates is

Rs. 75

Price of 1 racket x Quantity of Rackets

75 x 4 = Rs. 300

Rs. 345

Price of 1 bag x Quantity of bags
= Rs. 4,140

345 x 12

)
]
i
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The price of 11 shirts is Rs.1320. Find the price of such one shirt.
{fr:‘*’d&@}{rﬂ{_%ul 320;-43'Juj,f'1 1

' Solution:;
Priceof11shirts = Rs.1320
. . Price of 11 shirts
Price of 1 shirt = total shirt 11)1320
- 1320 -
11
= Rs.120

(4) The price of 15 balls is Rs. 645, Find the price of one ball.
LI e d S af fe 645288 Usad15

' Solution:
Priccof15balls = Rs.645 @
, Price of 15 balls
Price of 1 ball = total balls 15645
_ 645 -
15 —
= Rs.43

@ A car can travel 448 km in 14 litres of petrol.
What distance will it cover in one litre of petrol?
S S A s i Lioe FIE o 12 KR8 1P 14K L

' Solution:
...

Car travels in 14 litres
Total Distance

Total quantity of petrol 14)448
_448 =
14 -

= 32km
_ﬁ <iﬁ-=3.

Car travels in 1 litres




1.1_

The cost of 8 books is Rs.568. What is the cost of such 12 books?
H ?Jﬁ@é*&fd’uxﬁf’lZJL)J!-g*é.:;ﬁﬁSaé'Jwrﬂ‘S

Solution:
Costof8books = Rs.568
Cost of Total Books
Costof 1 book - Quantity of Books 8 )568
= _568 -
8
= Rs.71
Costof12books = Price of 1book x Quantity of Books

71 x 12 = Rs.852

The cost of 5 burgers is Rs. 625. What will be the cost of

15 burgers? U715 ¢ & 0,625 28605
' Solution:

Costof 5 burgers =  Rs. 625 m

Cost of total Burgers
Costof1burger = Quantity of burgers 5 )625
= 625 = —
5
= Rs.125

Costof 15 burgers =  Price of 1 burger x Quantity of burgers
= 125 x 15 = Rs. 1,875

The cost of 3 pizzas is Rs.750. What will be the cost of 8 pizzas?
: s Vdus ,?;3-8...5:.:.:.’.:;750:*43 Susm3

Costof3 pizzas = Rs.750
. _ Cost of total pizzas 759
Costoflpizza = Quantity of pizzas ~ ~ 3 Rs. 250
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Costof 8 pizzas =  Price of 1 pizza x Quantity of pizzas
= 250 x 8 = Rs.2000

(9) Aman earns Rs. 48000 in four months, How much will he earn

in one year? LUt oLl U s 3000 ST
Earning of 4 months = Rs. 48000
) Total Earning
Earning of Lmonth = &512tty of Months 448000
= 48000 -
4
= Rs. 12,000
Earning of 12 months =  Earning of 1 months x Total Months

12,000 x 12 = Rs. 144,000

If the cost of 5 pair of shoes is Rs. 2000. Find the price of such
10 pairs. IS e UI285210-6-200028 S Ui 28225

Cost of 5 pair of shoes = Rs. 2000 @

Cost of 1 oair of <h _ Cost of pair of shoes
OSLOT 2 palrOTshOes = Quantity of Pair of Shoes |4)48000

- 2000 =
5
= Rs.400
Cost of 10 pair of shoes = Cost of 1 pair of shoes x Quantity of pair of shoes

= 400 x 10 = Rs.4,000

ey




Time

A Student’s Learning Outcomes: o~

 After studying this unit, students will be able to:
« understand concept of am and p.m.
o add and subtract the units of time.

Remember a whole day has 24 hours, but a clock has numbers
from 1to 12. So, time is divided into two parts ‘a.m."and ‘p.m.

Lt U a0 St st 1 2 132 g8 5Pt L 24 ehre sy LIUE 1

-p-musla.metbl>

‘p.m. is the time duration from 12'O clock noon to 120 clock

night and ‘a.m.’ is the time duration from 12'O clock night to 12'0

clock noon.
- tnohl FL 12 e ]2elia Musle by ods Kb 12ebia 812 59p.m
P.m.
12:00 == 12:00
noon ) midnight

] v
‘YT TR, ACTI ilalilala il

IYM. STANCS TOFr nostmearicliiem
v ek W (LM RIUa L Il

Look at these examples S gt
9’0 clockin the morning.  9:00 a.m. £9LF
9’0 clock in the evening.  9:00 p.m. £9L¢
1’0 clock at noon. 1:00 p.m. L2 Py AY
1'0 clock after midnight.  1:00 a.m. 2 Py

D



. . . . UI = e e
© Write the time with a.m. or p.m. U7 p.m la.mAL-L =3

a. 3:30in the afternoon. p-m £3:004.-
b. 8:00'0 clock at night. p-m &8t
c. 5'0Oclock at Fajr prayer. a.m 500l 7
d. 11:59 before noon. a.m £11:59 65
e. 12:01 after midnight. a.m £12:01p0¢

24-Hours Format ~./602424

There is another method for representing time. It is called 24
hours- format. In this system a.m time is represented as it is but
12 hours are added in time to show p.m. It means

2 P amt ™ Uee b e Stbus¥ 24 e 3 Pl G Lo S S 25
e WIS 120 0 LS e dp.meE

1:00 pm s equal to 1+12=13hrs. ¢4121:00 pm
200p.m.isequalto 2+12 =14hrs. </142: 00 pm

Example 1:  Write the given time in 24-hours format:

‘4_)::”6 ;ﬂ-.b,f;li)...lsnglf :.335.—{...:
a. 3:30p.m. (3 + 12) 15 :30 hours

b. 2:15pm. (2 + 12) 14:15 hours

Example 2:  Write the given time in 12-hours format.
Ui Bl 120y s
a. 01:15hours 1:45a.m wUtechls e

d. 16:20 hours (16-12) = 4:20 p.m

o Write in12-hours format. 9 Write in 24-hours format.

a.
b.
C.
d.

e il 12 S e kil is24
13:45hrs  1:45 p.m 3:13am. 3:13
14:50 hrs  2:50 p.m 11:45 a.m. 11:45
16:10hrs  4:10 p.m 1:45p.m. 13:45
17:00hrs  5:00 p.m 2:00 p.m. 14:00

-

o0 oW
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Addition and Subtraction of Time
J’ﬂ,’aj}.aiﬁ*dl..:ﬁ:

An hour has 60 minutes and one minute has 60 seconds. We can

add or subtract time as shown in examples.
e e e 2 S VG S By AL 60 e L6025

§ Examplel: § Solution: h; mig

Add 3 hrs and 45 mins to 4 hrs and 10 mins. ‘3 45

U 5‘%45;}'@3& 2+ 10.51254 7 55

So, answer is 7 hrs and 55 minutes
-i.ﬁ#’SSJslg?ylﬁLﬁ
. Example 2: Add 3 hrs 35 mins and 4 hrs 45 mins.
SIS 85554 0035583
§ Solution:  Weknow that S
60 min =1 hr

Butin this example these | | = i | __res80.00e0f

are 80 minutes. It is more 3 2E N L
than one hour. Now |, 4 45 | GuF g SE s

divide it in hour and = 30 ~e T pliyy
minutes. So minutes can
be written as: 80 min = 60min + 20 min.

or 80 min = 1 hr + 20 min
Now take 1 hr to the column of hras a carry. i.e

hr min | S Lo
@

7 00 | 80 min = ‘ Hence, the answer is

8 20 |~ | _4._*.:-*202&8»;_.._,.-1,&;)3’

{?ﬁ.

|



We can also subtract time. In normal subtraction we borrow 10
but in case of time we always borrow 60. Look at these examples.

A I S0 25 At 8 F it TS 10ALEY P et E SEG P S eins

= Example 1:  Subtract 3 hrs 40 min from 5 hr 45 min, d
Solution: ISP el B e e85 S
hr min _ —
5 45 ;| So the answer is
~3 40 | 2 hours 05 minutes.
205 L 5%
Example 2:  Subtract 2 hr 35 min from 4 hr 20 min.
Solution: SO F e35582 0 20554
35 minutes cannot be B H” T SO Fes35..0020
subtracted from 20 minutes, | Nf mMin e LU AT
so we borrow 1 hour from 4 { 4 20 | KLty Fo
hrs when it reaches at min | =2 35 o Fpere 60T Gt
column it will become 60 | 260 = 2E1ES
min because @ e -
1 hr = 60 min
hr © min
4 — 60 1 hr =60 min
20

Now add 60 and 20 min, We get 80 min,

Now subtract 35 min from 80 min and 2 hrs from 3 hrs.
eSS 3;;:.;35,;.,@:_.#89_,:-%_;*&5..«»80& SIS 2208260

So, the answeris 1 hr 45 min.

—e 45 s an |

o
\
."I

hr min ] Sy
3 80

-2 35

1 45j




© Addthese. YICSy

a. hr min b. hr min
6 25 4 35
+ 3 25 + 2 50
9 50 7 25
d. hr min e. hr min
4 25 2 50
+ 3 35 + 2 45
8 00 5 35
g hr min h. hr min
7 77 8 70
+ 4 23 + 1 30
12 40 10 40
© subtractthese. -/ 7/
a. hr min b. hr min
8 45 6 15
-2 35 -2 25
6 10 3 50
d hr min e. hr min
6 40 9 45
- 4 25 -5 35
2 15 4 10
g hr min h.
7 35
-1 25
6 10

hr min

6 30

+ 2 40

9 50

hr min

3 20

+ 2 25

5 45

hr min

9 40

+ 2 40

12 20

hr min

4 20

-1 30

2 50

hr min

5 30

-2 40

2 50
hr min
8 25
-4 15
4 10
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Put a.m. or p.m. with the time in the given statements.
*u.‘."ﬂp.mg a.m JVL;‘J’:J@L'L:ié.J

Iwake up at 7:00 __a.m __ of the morning.
The Sunrises at 5:45 __a.m
The Sunsetsat 7:10___p.m
Isleptat10:30 __ pP-mM__last night.
After 11:59 at night, itis_a.m ___ one minute.
My father returns from his job at 6:30_P-M__ in the evening.
The recess time in our school is 10:30 _a.m
On Friday, I reached home at 12:15 ___P-M_ from school.
Ilistened news last night at 9:00 ___P-m

Convert 12-hours time format into 24-hours time format.
SIS S L 524 e s L 5512
6:15am 06:15 b. 6:15p.m 18:15

12:00 noon _12:00 d. 1:15am 01:15
3:45am 03:45 f  8:20p.m 20:20
8:20a.m 08:20 h. 8:45am 08:45
10:00 p.m 22:00 jo 12:15p.m 12:15

Convert 24-hours time format into 12-hours time format.
SIS S e kL EE12 e L5524

13:15 L15pm b. 23:05 11:05p.m
18:45 6:45 p.m d 13:13 1:13 p.m
20:00 8:00 p.m f 24:00 00:00 am
23:59 11:59 p.m h. 18:18 18:18 p.m
21:12 9112 p.m i 22:30 10:30 p.m

P



Add the following. JIG S s
:1. hr min b. hr min ¢. hr min
4 35 4 20 3 20
+ 2 20 + 6 28 + 2 25
6 55 10 48 5 45
d. hr min e. hr min f hr min
6 25 4 25 6 35
+ 2 25 + 3 45 + 7 35
8 50 8 10 14 10
g. hr min h. hr min .  hr min
5 45 3 55 4 88
+ 2 35 + 2 45 + 3 22
8 20 6 40 8 50

@ Subtract the following. LD P S St
ﬂE—l. hr  min b. hr min c. hr min
8 45 9 57 6 49
-2 22 -3 28 -2 42
6 23 6 29 4 07
d hr min e. hr min f hr min
8 42 6 35 5 25
-3 36 -4 45 -3 40
5 06 1 50 1 45
g. hr min h. hr min I. hr min
8 20 10 35 8 00
-5 35 -9 55 -2 55
2 45 0 40 5 05

ey




Geometry

_ y Student’s Learning Outcomes:

After studying this unit, students will be able to:
« describe basic concepts of geometry.
» differentiate between different types of angles.

Take a pencil and a notebook. Draw a dot on the page. Wow! you
have drawn a geometrical figure called point.
e MRS PSS 2 M e SISSF (2 LS A i F
® Point: A pointis a small dot which has no length or width. It is
just a sign. Usually a point is represented by a capital English letter.

e LSO ez te L 2 e Qg QUSSP bmled L b 5
-“'..E‘l?k-f;:w:;p

. A & i

® Line: A line is a set of points joined together. A line is
represented by two arrow heads at its ends.

et b e UL 2 p I P 15 e b e Kb L nd b5 Lo ss

< > /
A B
X

® Ray: If we cut a line at any point it is divided into two rays. A
ray has one end point and the other side has an arrow head. This
arrow head shows that the ray is increasing in this direction.

K F 3 A /;uﬂrtmﬂﬁ,} u-{'iblﬁﬁ-d‘:.ﬂf:fﬁj DAL :;fﬁgﬁ e ¥ uf fbr‘:f i3
e $uoy Srer SIS S b b S e b




® LineSegment: A line segment is a piece of line with fixed

length. A line segment has two end points and each end point has a
fixed name. For example:

L oa bt b LKL m 252365 $0F 100 L 15 o8 st TR (LS 5 L1 b5 115 5

e e ey

* % ® ® ‘{J-’b
A 4cm B X 6 cm Y
How to Draw a Line Segment?
i L o
Oj Join points to draw a line segment with your ruler and write
its length. ST 5 b i
@ A B (b) E F
5cm 7 cm
©@ P Q

10 cm
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9 Draw line segments of given lengths.

S SRR A R

e e S

-t,’JJ buhﬁﬁéur L-Jdifj

(a) CD= 8cm C D

(by CD = 6cm C D

() CD = 4cm C D

(d) CD= 3cm C D
Angle .

When two rays start from a common point, they form an angle.
In other words, union of two rays is called angle. An angle has two
arms. One arm is called initial arm or initial ray and other arm is called
terminal arm or terminal ray. The point from which they start is called

vertex.

A t‘[kff:!},nf KUFtbas st U 3 :.,L,EJL‘:,::U LI S LICT B 0
....ia,t’llﬂf L tst) Tk u;n:..gg’; ur -{.L’Ll;r&hﬁg ASAT - :.wl%l.’l.lf'/&l:ﬁk s AL L

An angle is denoted by / sign.

_.%.. L G-"wl.;fﬂu

Infig (i) itis ZPQR (or ZRQP). (LRQP V) - LPQRUAGF
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Types of Angles (L3ife s

There are many types of angles according to movement of their

arms, such as: S IS eSS 29 7SS L oot
/ | ) | \ |
Acute Angle Right Angle Obtuse Angle
linle o2l FE Mo B
- (N = /
Straight Angle Reflex Angle
ﬁ:ﬂj :;IJJE

Angles are measured with the help of a geometrical instrument
called protractor. It is a ‘D' shaped instrument.
It has small scales from O to 180°. Every angle is measured in
degrees. The sign of a degree is **".
..;-:_.I:‘,rs’.lf?y D..-Eflg..pﬁi.ig%.b:_-ud:;ﬁ g-ﬁgf}{:f S LTS e i
..g.gr: “Oalo §15. 5-%-B1flstuﬁdf $atli e bintly 2k f180° 0" g1
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How to Measure an Angle? ¢ (i<l P

-y

Let there is an angle we have to measure it. Here are the steps to

measuretheangle: _ s\, 2 Fil &ig by J’gdw.,::‘%.,su_gu_/ S
® Stepl:

Place the protractor on the given angle ’

such that its centre is at vertex O and zero of
protractor exactly on ray OA.

}..f}s,;,urgou'u}" RS uf‘;(, y -3 Iy ;ﬁ.g,.; 1pw
- OALL*0F O A

® Step2:
Now read from O (from ray OA) and “E‘?.u
reach to the ray OB. Read the degree on the

protractor. It is 45°, Remove the protractor
and write the angle.

It is written as ZAQOB = 45°

g

-945‘}-@’.’ .’gd/f e }g}:{.q‘{: FOBLLE s OAL ) S flﬁ@%aﬂ-_:lﬂ(ﬁ
£ AOB = 45° gzl g/ s Je fh g

o Measure the given angles and write them. .L,ﬁ’f;cﬁé)’ Fel e s

ﬁz R hn cr"r
/PQR = __ 60° LABC = 90°




How to Draw an Angle? ¢/t s

' Example 1:  Draw an angle of 30°. Sl LK30°
Stepl:
Draw a line segment of o A

suitable length. Place your

protractor at centre point O.
.E-f;'//'(ﬁ,;«:,_.i-u"g h:-,:th’-..ﬂf(jl.-}...—fv lru-’
..u:ﬂgof s EE

Step2: Now count from point A
(on the protractor) and reach at 30
degree. Put a dot at 30.

df 30y ST ST A D A 205
S 150 307 F

Step3: Now remove the

protractor and join the dot to
point O with the help of a ruler. /

-qf b sh d/ d.tt..:..éﬁ' S O b /-‘z/ f,!{,-.‘.xfﬂrﬂ .

. Step4: Name this point B. Draw
arrow heads at point A and point B.
200 L AOB = 30°is required angle.

0 A L L2 Bl Ass Lok BS Lidps
-l L AOB = 30°

ey




' Example 2. Draw an angle of 120°. Sl LK120°
Stepl:
Draw a line segment of e v

suitable length. Place your

protractor at centre point O.
LA }3,;?7.!.;)“‘?;5 Eﬁuﬁféy wrtrilp s
-u.!’;;o:f/

Step2: Now count from point Y
(on the protractor) and reach at 120
degree. Put a dot at 120.

$/3120 S /fo({/{ F1QeY o 2{'1-!
v S L1200 F

Step3: Now remove the
protractor and join the dot to
point O with the help of a ruler.

-qf’ ez 24 lj i.gu&é? Il DJJ!Lf (v %}54..,&3(,&' 5 ‘~r’=

Step4: Name this point Z

v Draw arrow heads at point Y and
pointZ,
156° £YOZ = 120° is required angle.
.qfuuwi £ (LY o] g KZ4 L r I:4rﬁ
O Y

~e i /L YOZ = 120°




Measure the distance between given points and write the
length belowthem. =8z £ i Fedludp iy

a. e . b. =« .
A B C D
AB= 4 c<m CD= 6 cm

C. .

E

EF= 7 cm

€. o .
J JK= 12 cm

@ Join the dots to draw a straight line and write the length.

..Lf-:pﬂljlrj.a Iuﬁg B8
a o p b. y V
OP= 5 cm UV= 6cm
& L M b X Y
IM= 7 cm XY= 40cm
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O A @) E
£AOB= 30° /EOF= 45°
E 8 M
0 G 0 T
/GOH= 60° /1LOM= 75°
R p“‘
(@) D; (@] Q:
£oop= 90° /QOR= 100°
g.
vV
S £ >
O O X
LUOV= 120° / XOY = 180°




@ Draw the given angles with the help of ruler and protractor.
J&*}Ui&:&u& ;f},,;;,ui_g:,

W

a. [/ ABC=20° b. / DEF = 30°
A
/
B E F :
C. /PQR = 45° d 4 LMN = 60°
//P |
Q M N
e. ZUVW = 70° . /£ XYZ =90°
U | H
| :
V (@) G
g. L/ ABC = 110° h. / DEF = 120°
A

D




- Student’s Learning Outcomes:

After studying this unit, students will be able to:
« understand the purpose of graph.
» read the given graphs.

Ali is very fond of animals. He has following animals at home.

e en AL e P eburde
e 3cats ® 2dogs ® 5parrots e 4 sparrows e 6 chickens

JU3 &2 235 U4 W6
Chickens ¥ ¥ w ¥ H‘ L4
Sparrows S S % %

Parrots k 'L \ k .L
Dogs > "™
Cats ‘ ‘ ‘

This diagram is called pictograph. A graph helps us to see the
differences quickly and easily. In a pictograph, pictures are used to
represent information.

e 492 uﬁ‘.ﬁ)’ d{r‘:'...-:'_muufi-ifl.}} :-df;:l&brf_ﬂf f...i;.l.‘lf-:(..ﬁjd{f"ﬂ rl; L3

‘{_géﬁdw; i S

' Example: Draw a pictograph with given information. Here

are the number of students who fail in different subjects. Math 5,
Urdu 1, English 4, Islamiat O, Science 2.

A hS P -ti s et 2 2o G S Uk MUty SbedS § 0% e et 555

Solution: Math @' @ @ @ @ ..2;,;"5.'0..«1#1!.:'1;4J$|
Urdu o]
English | & & &
Islamiyat
Science | &

—

“
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This example can also be represented by another way.
_,;;_Eﬂlgt_fﬁiw‘f =& /E'Jalul:lf Jeu

Number of

i

fail students

Subjects:  Math Urdu  English Islamiat Science

This way of representing information is called column graph or
block graph. et S S K KL S el
Now look at this graph and answer the following questions:

I 2L o sir i ] S8 g

1. How many more students are fail in English than science? __2
2. Inwhich subject least students are fail? Urdu
3. Inwhich subject only one student is fail? Urdu
4. Isthere any two subjects in which equal numbers

of students are fail? No
5. Inwhich subject maximum number of students are fail?__Math
6. How many students are fail in all subjects? __12

9} Now look at this graph. It shows birth days of children of a class.
Answer the questions.  _o ¢/ I §UFL cstas o Jof oS i
A2 Yy




S o A

In which month, maximum students have their birthday? September
How many children have their birthday in Jan? 5

Which month has least birthdays? April_and June
In which month 7 children were born? September
What are the total birthdays in last 3 months of year? __ 15

How many total students are there in the class? 53

Bar Graph _i./,

It is very similar to column graph. The basic difference is that, all

bars have same distance between them. Look at this graph, read it

carefully and give the answers.,
.J)ﬁf,;...xf L;:-..:_mMLm..ﬁuyﬂLﬂLru S s:.tai....!fu}d :b-.-.:;.ﬂvﬂ....xa.....ﬂf Hb’.

'P":'-‘"P-’!‘d!—'-

60 )

2 AR fam s
It is a bar graph of favourite colours in the classroom.
.L»_-i*/'i:l. ...ﬁb’uﬁu.r—-’@f Ky
M
5
4
Number 3
of 2
Students 1
0
White Blue Green Pml-:
Fa vourite colours
Questions:

Which is the most favourite colour of the students? _Blue

Which is the most 2nd favourite colour of the students?Red and Green
How many students do like white colour? ___ 3

Which colour is least favourite? __ Pink

How many students have given their colour opinion? __17

.-



9 There are many players of different games in a school.
Answer the questions from the given bar graph.

2L UMy e AN s s S g LS S

i)

80
70
60

50
b
Number o
of 30
Students 5
; N

Table  Hockey Tennis Cricket Football Swimming

Tennis Games
' Questions:
1. How many students like hockey? 50
2. Which is the most favourite game of the players? Cricket
3. Which games are equally liked? Hockey and Foot ball
4. How many players like hockey and tennis? 70
5. Which game is least popular? Swimming

@ Look at the given pictograph and answer the following
"~ questions. (Ali has stamps of different countries)

({,ﬁ'gt"f Sud i E;LJ; ] 02 S 5T s320) o ,;J,f d{_rﬂnié.,:

Turkey
Nepal & & &
UAE = =
UK B 2= BiE BiE BE BiE 8RB
USA — — -

—_— e —
Iran fra

-:;'51"-
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J Questions:

1. How many stamps of Nepal does Ali have? 3
2. Of which country does Ali have the most stamps? UK
3.  Of which country does Ali have the least stamps? Iran
4.  What are total number of stamps of UK and USA? 10
5. How many total stamps does he have? 23
@ Read the pictograph and answer the following questions.

(Six friends have many toy cars.)
iy 17 JersJl cr:.-uﬁ"_u..‘f:‘:)..;[ [T J:uﬂfﬁdrjijiuf g;..il/r U‘{;r"j

Fazal |()| ¢lmip Gimip Gimip Gimip Gimp Glmo

Zahid |£Y| lsio Gisio Glso Glsio Gisp Glso Gisp Glso

Anas || gleip Gimip Glmp Gleo Glsio

Zaib || glep glmip ¢lmp

Akbar |2 | sluip gl Glsmp Glso Gl

Usman |#%| ¢imp &lmip
. Questions:
1. Whatis the total of Fazal and Anas cars? 11
2. How many cars do Zaib and Akbar have? 8
3. Who has the most cars? Zahid
4. Whois 2nd in having the most cars? Fazal
5.  How many cars do all friends have? 29

Look at the given column graph which shows rainfall in a city

“ in different months and answer the following questions.
LUJ‘U"&}E/Juﬂi;,ﬁwjjgdbi.ﬁgff.{?u:u%ﬁd&gﬁigdf#fi%:
' : WYL 4

50 mm
40 mm
30 mm
20 mm
10 mm

Months: March April  May June July August

[1e4uIvy
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Questions:

Which month has the least rainfall? March
Which month has no rainfall? May
Which months have the most rainfall? July and August
What is the maximum rainfall in which month? July and August
In which month, there is 20 mm of rainfall? April

In first 3 months, what is the total rainfall? 30 mm

Maximum temperatures of different months are given in bar
graph. Read and answer the questions.

S Sy V-4 .E;.%Lfl}#ﬁ 7 o ammdl de ok KR o u.fa_ﬂmt

VA W N e

)
50° ¢
40° ¢
-Jl
S 30°c
e N
o 10%¢
el |
January February March April June
Favourite colours
Questions:
Which is the hottest month? May
What is the maximum temperature of the hottest month? _50°C
Which month is the coldest? January
Which months have the same temperature? _ April and June
Which month has 40°C temperature? April and June
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Fun Time

Make a bar graph of number of copies of your five friends on
a particular day and then answer the given questions.

D2 Ly S AT Sk S szt P s

i
1,
2
3,
4.
5,

M
C L
g . 4 L
Specimen
b :
> : 4 ° -
o
3 6§
ﬁ-
S s}
X 4|
™
3 3
E,
> 2
1
0
Umair Asad Amir Ali Irfan
Friends’ Names
Questions:
Who has the maximum copies? Asad
Who has the minimum copies? Irfan

Who have equal number of copies? _Umair and Ali

What is the number of your and your best friend’s copies?

What is the total number of copies? 28

A —



